QUICK START

GUIDE

AP

MOZA Slypod



CONTENTS

EN 1

CH 8

Battery and Charging

The MOZA Slypod comes with a built-in lithium battery. When charging for the first
fime, please fully charge the Slypod to activate the battery. Solid red indicates
the Slypod is under charging, solid blue indicates the charging is completed. With
a Type-C interface, the Slypod is able to be charged by a mobile phone charger
or external power bank. It will automatically stop charging when the battery is full.

Note:

1. It'srecommended to use the original charging cable provided in the package!

2. Do not overcharge or over-discharge the battery, otherwise the battery cell will
be damaged.

3. If the battery is idle for a long time, please recharge and discharge it every 3
months to keep it active.



MOIA Slypod Overview

Quick Release- - <@ k- ----- Quick Mounting
Screw Port

---1/4" and 3/8" Extension Hole

Arca-Swiss ----
Quick Release

_J 77777 Main Body

2 &
Operation Button
\
Indicator Light - - -~~~ [ L ‘
--Power Button Charging Port
1~~~ Handle
=

Adapter (ACCessory) - - - oo .

1 Quick Mounting
| Port

There is a 1/4" extension screw hole on the top of the adapter, and it comes with a 1/4"
to 3/8" adapter screw to meet installation needs of different shooting devices.

1



3/8" Screw Hole

3/8" to 1/4" Adapter
Screw

There is a 3/8" extension screw hole on the bottom of the handle, and it
comes with a 3/8"to 1/4" adapter screw to meet installation needs of
different shooting devices. (Such as monopod, tripod, etc.)

Pan-fitHead ---—--oo o

Quick Mounting------ Ol Pan-Tilt Lock
Port

3 Knob Screw---
i ----Pan Knob Screw

Quick Mounting Port

e Loosen the pan knob screw to adjust the pan angle; tighten the screw
to fix the pan angle.

e Loosen the tilt knob screw first, press it inward to rotate the quick release
baseplate to adjust the filt angle (£90°)

e Stop pressing the screw, then tighten it to fix the filt angle.

Safety Lock------------ =

7)

[--— Quick Release Plate
Quick Release____ | .
Baseplate [ N

Pan-tilt Lock-------- 1/4" Screw Hole 3/8" Screw Hole

e Slide the quick release plate onto the baseplate, tighten the pan-tilt
lock to fix the release plate;

e Loosen the pan-tilt lock, press the safety lock to detach the release
plate from the baseplate;

e The quick release plate is equipped with1/4" and 3/8" screws to meet
different mounting needs.



Arca-Swiss Quick Release ~~--------------moooooooo oo

- 3/8" Screw Hole f

| 1/4" Screw Hole ---

Arcc wiss quick release on the main body has a 1/4" screw hole and a 3/8"
screw hole to meet various extension needs. When the Slypod is horizontally
mounted on a fripod via the Arca-Swiss quick release, the Slypod can be
used as a motorized slider.

Mounting
e Mounting the handle

Align the 1/4"" screw hole on the handle with the 1/4'" screw on the bottom of the
main body, turn the handle anficlockwise fo tighten it.

Turn the handle clockwise to detach the handle from the main body.

e Mounting the pan-tilt head

Slide the pan-tilt head into the groove at the top of the pole, make part 1 and
part 2 fully fit. Turn the screw ring 3 clockwise to secure the head onto the pole.

Loosen the screw ring 3, then turn the knob screw 4 anticlockwise to detach the
head from the pole. After the P&T heod is detached, reset the quick release knob.




Getting Started

Long press for 3 seconds: Power on/off

Button Operations

Power Button Device status Extend+ Retract-
Photo taking control 9
Sl via the shutter cable Static Start to extend Start fo retract
once —_— Extend Accelerate by one gear | Decelerate by one gear
_— Retract Decelerate by one gear | Accelerate by one gear
Click all three buttons at the same time: reset (blinking white)
P Stati Start to extend and Retract and continue to
oweron Ciie continue to accelerate| accelerate
o Keep extending and Extending decelerates first,
Extend confinue to accelerate | then starf to retract
Long o Refracting accelerates | Keep retracting and
press Retract first, then start fo extend | continue to accelerate
Long press +/- buttons at the same time: automatic
— — reciprocating mode (The blue light lasts for 1s
indicate a mode switch.)
Double
click Stop
Triple | Turn Off + Resef . o o
click (Blinking red)

App Download

Scan the QR code below or search in the
App Store to download the MOZA Master

App.

Device Connection (Wireless)

Download the "MOZA Master" App.
a. Turn on the Slypod and mobile phone Bluetooth.
b. Launch the "MOZA Master", select the device to connect.

c. Enter the operation interface after connection is completed.

App Operation

108

Android

A\ Note: If's required to active the device according to instructions before first
operation. Please refer to the latest App version. When the Slypod is controlled
by the App, other buttons will be disabled except for the power button.




e Regular Mode
Slide the red operation point to any position, the Slypod will move according to
the sliding path

Remote Control

Regular Mode  Gearshift Mods

- --Maximum extension length

D coccoosong| ---Current movement distance

Long press: Extending | ® @@ © ,,}ROTQ prﬁssj: Re?rci:cﬁn{c;
Release: Stop extending o elease: stop refracting

Moving speed setting

o Segmentation Mode

Select the segmentation mode, add a path (9 5 paths can be added in
maximum), and then slide the operation point o any location. Set the running
time of each path separately. Tap to start and the device will move according to

the set path and speed.

Segmentation Mode Step Mode
path --1.. @ & © O @B
number
Beginning
Moving #1-(number shows The fifth section
e fthe distance from .
up the origin) -Path running
Smooth Tr time setting
__lTap to thered .
area to set the — e — | Tap “Confirm”
running time - onnrm o complete
Moving-|--- - setting
down i End (number
1_| _shows the
distance from
the origin)
'
Reset-+--@ ® o [» == Tap to start
path oot P A

i
Tap o Toﬁ: to
reset confirm



o Step Time-lapse
Select step mode to set step length, cycle, residence time and step movement time.

After the setting is completed, tap "“Start” and the device will move according fo the set
step length, speed and cycle.

Creative Video

egmentation Mode  Step Mode gmentation Mode ~ Step Mode

8  Step Length 2mm 8 Step Length 2mm

Step Movement Time 108

X step Owell Time 10s X step Dwell Time 10s

Tota Lergtn  220mm
- OEEEEENND -+

290mm

e Color Setting
Enter the operation interface, select Color Setting, up to 5 kinds of indicator light
colors can be set based on personal preference.

Firmware Upgrade
Firmware is required to be upgraded in the charging state. Turn on the device, connect
it fo the App, enter the operation interface and then start the firmware upgrade.

The device must be restarted after the upgrade succeeds. If the upgrade fails, the
process needs to be repeated until the upgrade succeeds.



Status Indicator

Charging Solid red
Charging completed solid blue

Power on Solid green
Under-voltage alarm Solid orange

Blinking red + automatic reset &shutdown
(unable to power on when pressing the power button)

Start/stop running switch Blinking green for 1s

Testing/operatin inki
mode%swpitch g Blinking blue for 1s

Low voltage alarm

Charging

Uncover the rubber sleeve over the charging port, the Type-C interface is inside. The
Slypod can be charged by mobile phone charger, mobile power bank, etc. It will
automatically stop charging when the battery is full, please disconnect the charger then.
(It is recommended to use the original charging cable provided in the package)

Cadlibration

Callibration is needed when there is abnormality with the device. There are two ways to
calibrate the Slypod: Click all three buttons (power, +, -) at the same time.Enter the
operation interface to start calibration in the App.

Please subscribe Gudsen MOZA official YouTube channel for the latest tutorials.

Specifications

Slypod
Storage Length: 585mm (grip excluded)
Expanded Length: 996mm
Max Diameter: 54mm
Main Body: 7699
Weight PTZ Head: 310g
Grip:118g
Vertical: 9kg
Horizontal: 4Kg
Highest: 28mm/s
Lowest: 0.15mm/s
Operating Voltage 8.5v-12.6v
Battery Life 120min
Working Temperature -10 C-50 C

Payload

Operating speed

Communication Bluefooth
Interface 2.4G

Type-C

Battery Model Lithium ion Battery
Battery Capacity 600mA/h

Battery Voltage 1.1V

Charging Port Type-C USB
Charging Voltage 5V

Charging Time 90min




Fajth R FERRIL AR

SlypodfE AR E R , BIXFTFEERRT , 1B554ASlypodFRimFBLUSIERI , (RIE MR
FUEA. DESFRKERBET , BIESERABETM. SlypodEMType-CGEO , F
H7EEERE. BEIFRIRSESAILAASypod R | BitFEiHE S L FEr.
L{ERSlypodidigsh | iEfERRERIRMIIREFRBEL |

207, IHERh , BNISXIETIEMIRE ;

3SEKPRERM , B8R3N BEAERFRME—RARSEIENL.




iAIBMOIA Slypod

RIFHE

R T

_ 14", 3/8"
1 iR,

:

J =
SRR %"@E}Eﬁ% =1 S

- T

=

,,,,, 1/4 "§63/8 "iges

D) ---1/4 " iR,
S—————

RGPS EL/4 T RIBAIHEEL/4 "%3/8 "R HREINFE | B
AR A RE SRR E.

9



1/4 " g,
3/8 g3,

3/8 "#k1/4 " 124t

BEBILED

FIRREPRHE3/8 "I RIRLLF FEH3/8 "1/ "RARREMFE |
(JRBZR. =RNZRS)

ZERAUSHERE.
BE
e
TR
o BEAETETRL , BEEAKTIESREIERNIA TR , BERAK
TRk,
- BT  RERIETRL  MBERSSR, WEREHR
(£90% )
« BLBERDATEL  ZERHSLNS | WREDRTRL  BEZGH
B oo o
g’ _ [CD
Q Q - @:LQ""‘HQ%W
B . |

14 g 38 gs

o FHRER(UAIABN)IBARESZEN | FEREH , BIERERSHRESLE

o JEARAH]  RERSH  RERBHRERLE , REIRSRESTZEDE.

o PREIRIRERSHL/4 i RIRLLN3/8 " RIRLL  IWEEINFEE | EBLRR
EARESHERERE.

10



FIERTBEE  —--oooooommmoomeooeo oo

ol . 3/8 "ig3|
1/4 "88823, {3

FNERRIBRESEL/A " RIZLAN3/8 "I RiRLLE|, , RENFE , BEBT
BREARESHERRE. (EHRRME. =A%EE , iTslypod 2B )

HE

© FHESENBS
BERLLA BUASIEENL/A 8%, FEEREERE  SRERSENSE

: |

o ENS=EES

BraRRREROMEATNIRRRIFEO2 , REEEE | e EesiRieds | 1§
FNSTABHEETER: FIEHERMEIEHS | BUEEIER LT RIFERS , WEE
NES=EMEDB. =aRFHE , SURIFIHEE.




FHIVER

KI%3S - FFL/RAL

R{FiER
iR RERS ok g
B)
s | o - | BIERS i e
— IR IE—H R
— S HE—H IE—
RREE B, +. - SHATERE (SRR
7L BIERS | Saikorsauns | SaemertseunE
— AR FEmE R RER R
iz — @RS | e e
+FRHRAN BaE S
- - (BTELSER )
Wik hva: e — — —
— |[sneumse | — -
= (o)

APPTF&E;

EE BRI 4 TE "MOZA
Master” , tBRJLABRAE TN S
iz "MOZA Master” #{TTE;

Android

EERE (KEEE)
TEFHZE "MOZA Master” APP
a. FIFFNEFF TS ELBIR

b. ¥TFFMOZA Master SR EIERNF~M , REiE%E kR,
. ERMINEEETR | NI SR ERE.,

APPEERENE

A EE  EREERIRES I ST RS, BUBTTRAAPPIE | IEE
RARBITEM , BT AN, BIAppiEtlSlypodsy , BT EIRE , ERN
YIERIZRIS 2.

12



o HiEtEz
BT ERMERMNERZERMNE | RERIRMEEH

KiRigEE®
HAFHEIEES

o SYERZEREIEH]

EESRIEN | FINEBE(RL Q@ FINEERSTRIISRERDE | BEEREEER
HRREESRIEEINETIIE. REET  REBRRIRENIRES RS TH.

BEsS

B

BNz

[BANCZR

EERE
®E

SRM B

|11

REEE TR

(<]
LA
mE A

RSB
BAKE

|- BRENRE
[Ezalizte]

- KIRGETH

HAFHEIEES)

- IRERE
IE{TRYE

-~ REHE
RERM



o LHFERITRRS
EREHHRT | RESHKE | BNEH | FENRSEHEE. RETR , R
s REGRRIMRENSHKE. RESEBHTSHE.

mHaEE 2

=

o TBIRE
HEFREIRE | ATRERMIERONE , AEmASHE.
. ﬂQ:i;E .

000¢

B FER

Slypod B4 FHRLRIEFSFBR FRHT, TERBIRET | $TFHRE | IEiRAPPRENIRE
REMEEEGTR , TR R B RAERESRE. MFARAMES
SRS , EEFRA.




KIFEX

FeREH TITESR
FEFE5TRY, © BITER
FHL FITES
RIERE T+ (EHES)
RERE LTHTIRNE+ BENERHEAL ( ZFRELKTIAMEARTHL )
TR SHTINKELS
MR E TR BT IS
RS

FIFFBEOAREING . WERRType-CiZO , FH\7FHE:. BalRIRSERILUASlypod 7t
. BitEFRREISISLIETTR | BT TRERS. (BN ERPIR MR TREL )
RS

LIRET(ERER , AIRE "BIR. +. - ZRIEITEREEZAPPH MRS,
FEEHE O MERE

mEs
Slypod
R : 585mm ( RRFH )
R BFEE : 996mm
BAER : 54mm
= 1 : 7699
= =5 : 310g
i : 118g
ot Jm : 9kg
ﬁ"\%’,ﬁnjﬂ *ﬁﬁ'—ﬂ : 4Kg
N IR : 28mm/s
BTER 518 : 0.15mm/s
TIERE 8.5v- 12.6v
ERAnATIE) 120min
T/ERBIRE | -10°C - 50°C
BEEO 24G
Type-C
EES] EEFEIE
BithtSE 600mA/h
FBithER R 11.1V
FREEEO Type-C USB
FERERE 5V
FEEBAIE) 90min




FrERRER

FRES WISEEHA
e FBiE
it
ZHmEe (55)
FRiRERG!
Riess

BWHHIE , SlypodEARIELI2ANA | B, HEERIMREINE. REIS. WHHB
. USB&#, BESAE—FRBRIERS TBER , BAILUEEEERS.
tHAREEE

BWNHETERN  REEREH=CNE  ETUERER (ERESMRIERE
B0 . 8 ( EREZSEIIER M ) S,

NE+HRREREHIEE

EWHRESSAESISHR , ENHIERENEE | FESOEED ORI, BIAEA
ARANASRERR , ERTLUSER R (EREES. RIS REEE ; BREHR
BSEE  RIRFF@EN , AtE4LRENE , TaEEf | WLEEUTRG A=
SREBMRIERS | EATLUEREEERS.

1 BE=a830K

2. FEOFEREHREEN | BBIERZ-RE=8F SRR

3. BEEILE ENESSEBEFRESTHRERNN ;

4. FFARR BSOS N RIFNERIRIAR

5. EARATHFUHESIERARART

6. RIEEF-RERRABERER. 4R, RATIEMIRTE.



Contacts/BX4&& &

OFa10]

Official Website Sina Weibo
BN FRGIE

<y

(=] AL
=

A

Twitter Facebook

YouTube

Instagram

Tutorial/ 232

Firmware Upgrade Firmware Upgrade
and Calibration and Calibration
YouTube QR WeChat QR
B FHRRAR TR BN TR

“YouTube 473" 8 ET gD



OUDSEN

INVENTED FOR VIDEO
Gudsen Technology Co., Ltd
Web: www.gudsen.com




